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QUESTION 1

Which of the following is NOT performed by the MME during service request procedure?
A. MME sends paging messages to a list of eNodeBs.

B. MME updates the SGW with current eNodeB information.

C. MME re-establishes S11 bearers for the UE.

D. MME requests eNodeB to establish radio and S1 bearers for the UE.

Correct Answer: C

QUESTION 2

Which of the following is a Diameter interface connected to the MME?
A. S1-MME

B. S11

C. Gx

D. SLg

Correct Answer: B

QUESTION 3

Which of the following is NOT a benefit of S1-Flex mechanism?
A. Minimizes MME relocation in case of UE mobility

B. Minimizes the number of MMESs required in a network

C. Provides MME load balancing

D. Provides MME geographical resilience

Correct Answer: D

QUESTION 4
Which of the following statements regarding SGW selection by the MME is FALSE?
A. SGW selection can occur during initial attach, tracking area update, or handover procedures

B. MME can select an SGW by performing a DNS query on a given TAl FQDN
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C. MME can select an SGW based on the overload control information received from each SGW in the SGW pool
D. MME can select an SGW from the SGW pool(s) configured to serve the given TAI

Correct Answer: C

QUESTION 5

Which of the following is NOT performed by the MME during S1-based handover procedure?
A. MME determines if SGW relocation is required.

B. MME selects the target eNodeB for handover.

C. MME releases bearers that are not accepted by the target eNodeB.

D. MME checks if the handover is to restricted area based on the handover restriction list.

Correct Answer: C

QUESTION 6

Which of the following statements regarding handover is FALSE?

A. Handover can occur when UE is in ECM-CONNECTED state

B. S1-based handover is used when X2-based handover attempt failed

C. During X2-based handover, MME may remain the same or be relocated

D. S1-based handover is used when there is no X2 interface between source and target eNodeBs

Correct Answer: C

QUESTION 7

Given the exhibit, the MME is unable to retrieve authentication vector (AV) from the HSS and the initial UE attach fails.

Which of the following actions is useful for troubleshooting this problem?
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# cmm nbiPing list --pingTarget 10.10.9.1 --pingScurcelIp 10.10.9.2
L e ——— G —— e ————— +

| nbiPing | pingOutput |

PING 10.10.9.1 (10.10.9.1) from 10.10.9.2 : 56(84) bytes of data.;é4 bytes from 10.10.9.1: icmp seg=1 ttl=64
time=0.674 ms; 64 bytes from 10.10.9.1: icmp seg=2 ttl=64 time 0.384 ms;64 bytes from 10.10.9. icmp_sesq=3 ttl=é64

time=0.426 ms;;--- 10.10.9.1 ping statistics ---;5 packets transmitted, 5 received, 0% loss, time 4001lms;rtt

|
|
time=0.427 ms;64 bytes from 10.10.9.1: icmp seg=4 ttl=64 time 0.495 ms;Eé4 bytes from 10.10.9.1: icmp segq=5 ttl=64 |
|
min/avg/max/mdev = 0.384/0.481/0.674/0.102 ms; |

# cmm multiLink list

e e s e . e o
| multilink | linkInterfaceType | linkIndex | linkAdminState | linkOperationState | alarmState | remotelpl | remotelp2 |

A. Verify if the IMSI to HSS mapping list is configured properly.

B. Verify if a GTP profile is associated with the S6a interface.

C. Verify if the TAI value matches between the MME and the HSS.

D. Verify if the DNS server is provisioned to dynamically discover the HSS IP address.

Correct Answer: D

QUESTION 8

Which of the following is NOT a characteristic of the home routed roaming architecture?
A. Bearer traffic is routed from the SGW to the PGW over the S5 interface

B. The UE bearers are anchored at the SGW to the VPLMN

C. Subscriber services are obtained through the HPLMN

D. The MME in the VPLMN has an S6a interface to the HSS in the HPLMN

Correct Answer: A

QUESTION 9

Which of the following messages are exchanged between the MME and the SGW during the dedicated bearer activation
procedure?

A. Attach Request / Attach Accept

B. Create Bearer Request / Create Bearer Response

C. Session Management Request / Session Management Response
D. RA-Request / RA-Answer

Correct Answer: B

Reference: https://www.sciencedirect.com/topics/engineering/dedicated-bearer
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QUESTION 10

Which of the following statements regarding paging policy is FALSE?

A. Paging method defines which forwarding path is used to forward the paging message to eNodeBs

B. Paging policy defines paging procedures used by MME to page an idle UE

C. Paging timer specifies the time to wait for a response to a paging request message

D. Paging attempt specifies the number of times MME tries to page a UE before the UE is deemed non-responsive

Correct Answer: A
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